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amOZr{V {dkmZ 
POLITICAL SCIENCE 

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

Time allowed : 3 hours Maximum Marks : 100 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 16 h¢ &  

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 16 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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SET-1 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ g§»`m 1 – 5 VH$ àË`oH$ àíZ EH$ A§H$ H$m h¡ & àË`oH$ àíZ H$m CÎma 20 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iii) àíZ g§»`m 6 – 10 VH$ àË`oH$ àíZ Xmo A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 40 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iv) àíZ g§»`m 11 – 16 VH$ àË`oH$ àíZ Mma A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 100 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 17 – 21 VH$ àË`oH$ àíZ nm±M A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ & BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  
{b{IE & 

(vii) àíZ g§»`m 22 – 27 VH$ àË`oH$ àíZ N>… A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions number 1 – 5 are of one mark each. The answers to these 

questions should not exceed 20 words each. 

(iii) Questions number 6 – 10 are of two marks each. The answers to these 

questions should not exceed 40 words each. 

(iv) Questions number 11 – 16 are of four marks each. The answers to these 

questions should not exceed 100 words each. 

(v) Questions number 17 – 21 are of five marks each. The answers to these 

questions should not exceed 150 words each. 

(vi) Question number 21 is a map-based question. Write its answer in your 

answer-book. 

(vii) Questions number 22 – 27 are of six marks each. The answers to these 

questions should not exceed 150 words each. 
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1. ‘em°H$ Woa¡nr’ go Š`m A{^àm` h¡ ? 1 

 What is meant by ‘Shock Therapy’ ? 

2. Am{g`mZ (Xjog) H$s ñWmnZm Š`m| H$s JB© Wr ? 1 

 Why was ASEAN established ? 

3. bmoJm| Ho$ EH$ Xoe go Xÿgao Xoe _| OmZo Ho$ g§X^© _|, {dH${gV Xoem| H$s drµOm Zr{V`m± H$hm± 
VH$ Ý`m`g§JV h¢ ? 1 

 How far are the visa policies of developed countries justified with respect 

to the movement of people ? 

4. {dH$mgerb VWm H$_ {dH${gV Xoem| Ho$ {bE AmYw{ZH$sH$aU H$m Š`m AW© h¡ ? 1 

 What does modernisation mean to the developing and underdeveloped 

countries ? 

5. emh ~mZmo Ho$ nj _| {bE JE gdm}ƒ Ý`m`mb` Ho$ {ZU©` H$mo {ZañV H$aZo dmbm ^maV 
gaH$ma Ûmam nm[aV ‘_wpñb_ _{hbm A{Y{Z`_, 1986’ H$hm± VH$ Ý`m`g§JV Wm ? 1 

 How far was the Government of India justified in passing the ‘Muslim 

Women Act, 1986’ that nullified the Supreme Court’s judgement in 

favour of Shah Bano ? 

6. erV`wÕ H$mb _| PJ‹S>o H$m _w»` H$maU ~Zt, Xmo {dMmaYmamAm| H$m C„oI H$s{OE & 21=2 

 Mention the two ideologies which were involved in a major conflict during 

the Cold War era. 

7. {~«{Q>e ^maV Ho$ Xmo àm§Vm| H$s OZVm H$mo 1947 _| ñdV§ÌVm {Xdg VH$ ^r nVm Zht Wm {H$ do 
^maV H$m EH$ ^mJ h¢ AWdm nm{H$ñVmZ H$m Am¡a Š`m| ? BZ àm§Vm| Ho$ Zm_m| H$m C„oI ^r 
H$s{OE & 1+1=2 

 Why did the people of two provinces of British India not know at all, even 

on the day of independence in 1947, whether they were a part of India or 

Pakistan ? Also, mention the names of the provinces. 
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8. ñVå^ ‘A’ Ho$ ZrMo {XE JE ì`{ŠV`m| H$m ghr _ob, ñVå^ ‘B’ Ho$ ZrMo {XE JE H$WZm|/VÏ`m| 

Ho$ gmW H$s{OE Vm{H$ do AW©nyU© ~Z| : 4
2

1
=2 

 ñVå^ ‘A’                 ñVå^ ‘B’ 

(H$) Ho$. H$m_amO (i) {H$gr µJ¡a-H$m±J«ogr nmQ>u H$m nhbm àYmZ _§Ìr 

(I) dr.dr. {Jar (ii) {dÚmb`m| _| _Ü`m•-H$mb ^moOZ ì`dñWm  

   àma§^ H$aZo dmbm 

(J) H$ny©ar R>mHw$a (iii) EH$ {ZX©br` àË`mer Ho$ ê$n _|  
   amîQ´>n{V H$m MwZmd b‹S>Zo Ed§ OrVZo dmbm 

(K) _moamaOr XogmB© (iv) A§J«oµOr ^mfm Ho$ à`moJ H$m H$Å>a {damoYr 

 Match the personalities given below in column ‘A’ with the 

statements/facts given in column ‘B’ to make them meaningful : 

 Column ‘A’               Column ‘B’ 

(a) K. Kamaraj (i) First Prime Minister belonging to 

   a non-Congress Party 

(b) V.V. Giri (ii) Introduced Mid-Day Meal 

   Scheme in schools 

(c) Karpoori Thakur (iii) Contested and won Presidential 

   election as an independent 

   candidate 

(d) Morarji Desai (iv) Strong opponent of the use of  

   English language 

9. Amn H$hm± VH$ gh_V h¢ {H$ Oå_y-H$í_ra H$s ~hþbdmXr VWm Y_©{Zanoj g§ñH¥${V AmO ^r 
AjwÊU ~Zr hþB© h¡ ? 2 

 How far do you agree that the plural and secular culture of Jammu and 

Kashmir is still largely intact ? 

10. H$moB© Xmo CXmhaU XoH$a {gÕ H$s{OE {H$ ^maV H$m g§d¡Ym{ZH$ T>m±Mm ~hþV hr bMrbm VWm 
gd©-g_mdoer h¡ & 21=2 

 Give any two examples to prove that the constitutional framework in 

India is very flexible and accommodative. 
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11. AnZo amOZr{VH$ VWm Am{W©H$ EH$m§Vdmg H$mo g_mßV H$aZo Ho$ {bE, MrZr ZoV¥Ëd Ûmam CR>mE 

JE {H$Ýht Mma à_wI H$X_m| H$m CëboI H$s{OE & 41=4 

 State any four major steps taken by the Chinese leadership to end its 

political and economic isolation. 

12. Amàdm{g`m| VWm eaUm{W©`m| _| A§Va ñnîQ> H$s{OE & BZ XmoZm| H$mo gwajm Ho$ ˜Vao H$m EH$ 

Z`m òmoV Š`m| _mZm OmVm h¡ ? 2+2=4 

 Distinguish between migrants and refugees. Why are both of them 

considered a new source of threat to security ? 

13. àm¡Úmo{JH$s H$mo d¡ídrH$aU H$m EH$ An[ahm`© H$maH$ Š`m| _mZm OmVm h¡ ?  ñnîQ> H$s{OE & 4 

 Why is technology considered to be a critical element of globalisation ? 

Explain. 

14. 1947 _| {d^mOZ H$s à{H«$`m Ho$ H$maU, ^maV VWm nm{H$ñVmZ XmoZm| Ho$ g_j AmBª Mma 

_w»` H${R>ZmB`m| H$mo COmJa H$s{OE & 41=4 

 Highlight the four major difficulties faced by both India and Pakistan due 

to the process of partition in 1947. 

15. 1885 _| EH$ X~md g_yh Ho$ ê$n _| AnZo CX²^d go boH$a, EH$ gm_m{OH$ VWm 

{dMmaYmamË_H$ JR>~§YZ Ho$ ê$n _| H$m±J«og H¡$go {dH${gV hþB© ? 4 

 Right from its origin in 1885 as a pressure group, how did Congress 

evolve as a social and ideological coalition ? 

16. 1970 Ho$ XeH$ _| bJmE JE amîQ´>r` AmnmVH$mb go grIo JE {H$Ýht Xmo nmR>m| H$mo COmJa 

H$s{OE & 2+2=4 

 Highlight any two lessons which we have learnt from the National 

Emergency imposed during the 1970s. 
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17. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm Bg na AmYm[aV ZrMo {XE JE 
àíZm| Ho$ CÎma Xr{OE :    

  hmbm±{H$ erV `wÕ Ho$ Xm¡amZ XmoZm| hr JR>~§YZm| Ho$ ~rM à{VÛ§{ÛVm g_mßV Zht hþB© 

Wr, Bgr H$maU EH$-Xÿgao Ho$ à{V e§H$m H$s hmbV _| XmoZm| JwQ>m| Zo ^anya h{W`ma O_m {H$E 

Am¡a bJmVma `wÕ Ho$ {bE V¡`mar H$aVo aho & h{W`mam| Ho$ ~‹S>o µOIrao H$mo `wÕ go ~Mo ahZo Ho$ 

{bE µOê$ar _mZm J`m & 

 XmoZm| Xoe bJmVma Bg ~mV H$mo g_P aho Wo {H$ g§`_ Ho$ ~mdOyX `wÕ hmo gH$Vm h¡ &  

(i) XmoZm| {damoYr JwQ>m| Ho$ Zm_ {b{IE & 

(ii) h{W`mam| H$s ^anya O_m~§Xr H$mo `wÕ amoH$Zo Ho$ {bE Amdí`H$ Š`m| g_Pm  
OmVm h¡ ? 

(iii) g§`_ Ho$ ~mdOyX ^bm `wÕ H¡$go hmo gH$Vm h¡ ? 1+2+2=5 

  

 

 Study the following passage carefully and answer the questions based on 

it that follow : 

  Since the Cold War did not eliminate rivalries between the two 

alliances, mutual suspicions led them to arm themselves to the teeth and 

to constantly prepare for war. Huge stocks of arms were considered 

necessary to prevent wars from taking place. 

 The two sides understood that war might occur in spite of restraint. 

  

(i) Name the two rival alliances. 

(ii) Why were huge stocks of arms considered to be necessary to 

prevent war ? 

(iii) How could war occur in spite of restraints ? 
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18. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm Bg na AmYm[aV ZrMo {XE JE 

àíZmo§ Ho$ CÎma Xr{OE : 
  g§Kfm] H$s MnoQ> _| hmoZo Ho$ ~mX ^r X{jU E{e`m Ho$ Bg Xoe Zo 

AÀN>r Am{W©H$ d¥{Õ Am¡a _mZd {dH$mg Ho$ Cƒ ñVa H$mo hm{gb {H$`m h¡ & 

OZg§»`m H$s d¥{Õ-Xa na g\$bVmnyd©H$ {Z §̀ÌU H$aZo dmbo {dH$mgerb Xoem| _| 
`h Xoe àW_ h¡ & X{jU E{e`m Ho$ Xoem| _| g~go nhbo Bgr Xoe Zo hr AnZr 

AW©ì`dñWm H$m CXmarH$aU {H$`m & J¥h `wÕ go JwµOaZo Ho$ ~mdOyX, H$B© gmbm| go 

Bg Xoe H$m à{V ì`{ŠV gH$b Kaoby CËnmX X{jU E{e`m _| g~go µÁ`mXm h¡ & 
A§Xê$Zr g§Kf© Ho$ P§PmdmVm| H$mo PobH$a ^r Bg Xoe Zo bmoH$Vm§{ÌH$ amOì`dñWm 

µH$m`_ aIr h¡ &  

(i) Bg CÕaU _| {H$g Xoe Ho$ ~mao _| MMm© H$s JB© h¡ ? 

(ii) Bg CÕaU go g§~§{YV Xoe H$s Xmo gdm©{YH$ _hÎdnyU© CnbpãY`m| H$s nhMmZ  

H$s{OE & 

(iii) Bg Xoe _| hmoZo dmbo J¥h `wÕ VWm Am§V[aH$ g§Kfm] H$s àH¥${V Š`m Wr ? 1+2+2=5 

 

Study the following passage carefully and answer the questions based on 

it that follow : 

  In spite of the ongoing conflicts in this country of South 

Asia, it has registered considerable economic growth and 

recorded high levels of human development. This country was 

one of the first developing countries to successfully control the 

rate of growth of population, the first country in the region to 

liberalise the economy and it has had the highest per capita 

Gross Domestic Product (GDP) for many years right through 

the civil war. Despite the ravages of internal conflict, it has 

maintained a democratic political system. 

(i) Which country has been referred to in this passage ? 

(ii) Identify the two most important achievements of the country 

referred to in this passage. 

(iii) What was the nature of the civil war and the internal conflicts of 

this country ? 
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19. {ZåZ{b{IV CÕaU H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm Bg na AmYm[aV ZrMo {XE JE 
àíZm| Ho$ CÎma Xr{OE :   

  gaXma gamoda n[a`moOZm Ho$ A§VJ©V EH$ ~hþ-CÔoí`r` {demb ~m±Y ~ZmZo H$m àñVmd 
h¡ & ~m±Y g_W©H$m| H$m H$hZm h¡ {H$ BgHo$ {Z_m©U go JwOamV Ho$ EH$ ~hþV ~‹S>o {hñgo g{hV 
VrZ n‹S>mogr amÁ`m| _| nrZo Ho$ nmZr, qgMmB© Am¡a {~Obr Ho$ CËnmXZ H$s gw{dYm _wh¡`m H$amB© 
Om gHo$Jr VWm H¥${f H$s CnO _| JwUmË_H$ ~‹T>moVar hmoJr & ~m±Y H$s Jm¡U Cn`mo{JVmE ± Bg 
~mV go ^r Omo‹S>H$a XoIr Om ahr Wt {H$ Bggo ~m‹T> Am¡a gyIo H$s AmnXmAm| na A§Hw$e 
bJm`m Om gHo$Jm & àñVm{dV ~m±Y Ho$ {Z_m©U go g§~§{YV amÁ`m| Ho$ 245 Jm±d Sy>~ Ho$ joÌ _| 
Am aho Wo & AV: à^m{dV Jm±dm| Ho$ H$ar~ T>mB© bmI bmoJm| Ho$ nwZdm©g H$m _wÔm g~go nhbo 
ñWmZr` H$m`©H$Vm©Am| Zo CR>m`m &  

(i) ~m±Y Ho$ {damoY _| {H$E OmZo dmbo g§Kf© Zo {H$g àH$ma Ho$ Am§XmobZ H$m ê$n YmaU 
{H$`m ? 

(ii) ~m‹T> VWm gyIo O¡gr AmnXmAm| na A§Hw$e bJZo O¡go bm^m| H$mo Jm¡U bm^ Š`m| _mZm 
J`m ? 

(iii) Bg ~mV H$mo Ü`mZ _| aIVo hþE {H$ 245 Jm±dm| H$mo Ob_½Z hmoZm h¡, ~m±Ym| H$m {Z_m©U 
H$aZm H$hm± VH$ C{MV h¡ ? 1+2+2=5  

 Study the following passage carefully and answer the questions based on 

it that follow : 

  Sardar Sarovar Project is a multipurpose mega-scale dam. Its 

advocates say that it would benefit huge areas of Gujarat and the three 

adjoining states in terms of availability of drinking water and water for 

irrigation, generation of electricity and increase in agricultural 

production. Many more subsidiary benefits like effective flood and 

drought control in the region were linked to the success of this dam. In 

the process of construction of the dam 245 villages from these states were 

expected to get submerged. It required relocation of around two and a 

half lakh people from these villages. Issues of relocation and proper 

rehabilitation of the project-affected people were first raised by local 

activist groups. 

(i) What form of agitation did the protests against the dam take ? 

(ii) Why have benefits like flood and drought control been called as 

subsidiary benefits ? 

(iii) Since 245 villages were expected to get submerged, how far is the 

construction of the dams justified ? 
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20. ZrMo {XE JE XÊS> AmaoI H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm Bg na AmYm[aV àíZm| Ho$ 

CÎma Xr{OE :    

 

 
 

 

(i) Cn ẁ©º$ AmaoI _| Cg _w»` _X H$s nhMmZ H$s{OE {Ogo {ÛVr` n§Mdfu` `moOZm Ho$ 

A§VJ©V gdm©{YH$ am{e Am~§{Q>V H$s JB© Wr ? 

(ii) àW_ n§Mdfu` `moOZm Ho$ A§VJ©V {H$g joÌ _| Ý`yZV_ am{e H$m Am~§Q>Z {H$`m J`m 

Am¡a Š`m| ? 

(iii) àW_ n§Mdfu` `moOZm Ho$ A§VJ©V H$m¡Z-go Am~§Q>Z `h Xem©Vo h¢ {H$ Bg_| H¥${f VWm 

Bggo g§~§{YV {df`m| na ~b {X`m J`m Wm ? 1+2+2=5 
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Study the bar graph given below carefully and answer the questions based 

on it : 

 

 

 

 

(i) Identify the major head from the above graph which has been 

allocated the maximum funds under the Second Five Year Plan. 

(ii) Which area was allocated the minimum funds under the First Five 

Year Plan and why ? 

(iii) Which allocations in the First Five Year Plan show that it laid 

emphasis on agriculture and related subjects ? 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 20 Ho$ ñWmZ na h¢ :  
Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 20 : 

(20.1) {dH|${ÐV {Z`moOZ go Š`m A{^àm` h¡ ? 

(20.2) gmd ©O{ZH$ joÌ Ho$ {H$Ýht Xmo bm^m| H$m C„oI H$s{OE & 

(20.3) ^maV Ûmam AnZmB© JB© {_{lV AW©ì`dñWm Ho$ {H$Ýht Xmo bm^m| H$mo COmJa  
H$s{OE & 1+2+2=5  

(20.1) What is meant by decentralized planning ? 

(20.2) Mention any two advantages of public sector. 

(20.3) Highlight any two benefits of the mixed economy adopted by 

India. 

21. {díd Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _|, nm±M Xoe                     VWm     Ûmam 

Xem©E JE h¢ & ZrMo Xr JB© OmZH$mar H$s ghm`Vm go BÝh| nhMm{ZE VWm BZHo$ ghr Zm_, 

à`moJ H$s JB© OmZH$mar H$s H«$_ g§»`m VWm gå~pÝYV Aja Ho$ gmW, Xr JB© Vm{bH$m Ho$ 

AZwgma, AnZr CÎma-nwpñVH$m _| {b{IE : 51=5 

à`moJ H$s JB© OmZH$mar 
H$s H«$_-g§»`m 

gå~pÝYV Aja  Xoe H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) Bg Ûrnr` Xoe _| ahZo dmbo OZOmVr` bmoJ nm°{bZo{e`mB© d§e Ho$ h¢ & 
(ii) dh Xoe Ohm± Š`moQ>mo àmoQ>moH$m°b na 1987 _| gh_{V àXmZ H$s JB© & 

(iii) `h Xoe ỳ\«o$Q>rg ZXr na ~ZmE OmZo dmbo ~m±Ym| go gå~pÝYV PJ‹S>o _| CbPm hþAm h¡ & 

(iv) Bg Xoe _| bJ^J Xg bmI _mnweo Zm_H$ _ybdmgr ahVo h¢ &  
(v) Bg Xoe Ho$ _ybdm{g`m| H$mo AZwgy{MV OZOm{V`m± H$hm OmVm h¡ & 
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In the given political outline map of the World, five countries have been 

shown by                             and     . With the help of the information given 

below, identify them and write their correct names along with the serial 

number of the information used and the related alphabet as per the 

following table in your answer-book :  

 

Sr.  no.   of   the 

information used 

Related 

Alphabet 

Name of the 

country 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

 

(i) This island country is inhabited by the tribals known as 

Polynesians. 

(ii) The country where Kyoto Protocol was agreed upon in 1987. 

(iii) This country is facing a dispute related to the construction of dams 

on the Euphrates river. 

(iv) About ten lakh Mapuche indigenous people live in this country. 

(v) Indigenous people of this country are called Scheduled Tribes. 
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àíZ g§. 21 Ho$ {bE For question no. 21 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na  
h¢ : 

Note :   The following questions are for the Visually Impaired Candidates 

only, in lieu of Question No. 21 : 

(21.1) _ybdmgr {H$Ýh| H$hVo h¢ ? 

(21.2) _ybdm{g`m| H$s {H$Ýht Xmo OZOm{V`m| Ho$ Zm_ {b{IE VWm ~VmBE {H$ do {H$Z Xoem| 

_| ahVo h¢ ? 

(21.3) {díd ^a Ho$ _ybdm{g`m| H$s _w»` _m±J Š`m h¡ ? 1+2+2=5 

(21.1) Who are called indigenous people ? 

(21.2) Name any two tribes of indigenous people and the countries 

where they live. 

(21.3) What is the main demand of the indigenous people all over the 

world ? 

 

22. erV `wÕ Ho$ Xm¡amZ N>moQ>o-N>moQ>o Xoe _hme{ŠV`m| Ho$ gh`moJr Ho$ ê$n _| {H$g àH$ma ghm`H$  

Wo ? ñnîQ> H$s{OE &  6 

AWdm 

 nyd©dVu gmo{d`V g§K _| gmo{d`V ì`dñWm H$s {H$Ýht N>: ZH$mamË_H$ {deofVmAm| H$mo COmJa 

H$s{OE & 61=6 

How were the smaller states helpful to the Super Powers as their allies 

during the Cold War ? Explain. 

OR 

Highlight any six negative features of the Soviet System in the erstwhile 

USSR. 
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23. gm§ñH¥${VH$ AW© _| A_arH$s dM©ñd H$m AmH$bZ H$s{OE & 6 

                     AWdm  

 MrZr AW©ì`dñWm Ho$ CËWmZ Ho$ {bE CÎmaXm`r {H$Ýht VrZ à_wI H$maH$m| H$m AmH$bZ 

H$s{OE & 32=6 

 Assess the U.S. hegemony as a soft power.  

                         OR  

 Assess any three major factors responsible for the rise of the Chinese 

economy. 

24. erV `wÕ Ho$ níMmV² g§`wŠV amîQ´> _| {H$E OmZo dmbo Eogo Xmo _yb gwYmam| H$m dU©Z H$s{OE 

{OZ na bJ^J g^r gh_V h¢ {H$ CÝh| Adí` bmJy {H$`m OmZm Mm{hE & 23=6 

AWdm 

 nma§n[aH$ YmaUm Ho$ AZwgma ~mø gwajm go Š`m A{^àm` h¡ ? Bg àH$ma H$s gwajm Ho$ {H$Ýht 

Xmo VÎdm| H$m dU©Z H$s{OE &  2+4=6 

Describe the two basic kinds of reforms on which almost everyone agrees 

that they must be introduced in the U.N. after the Cold War. 

OR 

What is meant by traditional notion of external security ? Describe any 

two components of this type of security. 

25. Odmhabmb Zohê$ Ho$ ZoV¥Ëd _| 1946 go 1964 VH$ ^maV H$s {dXoe Zr{V H$m _yë`m§H$Z 

H$s{OE & 6 
AWdm 

 ^maV Ho$ amOZr{VH$ ZoV¥Ëd Zo {H$g Vah ^maV H$s {dXoe Zr{V H$mo à^m{dV {H$`m ? ^maV go 

CXmhaUm| H$s ghm`Vm go Bgo ñnîQ> H$s{OE & 6 

 Evaluate India’s Foreign Policy from 1946 to 1964 under Jawaharlal 

Nehru. 

OR 

 How did the political leadership of India affect its foreign policy ? Explain 

with the help of examples from India. 
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26. 25 OyZ, 1975 H$mo ^maV _| bJmE JE AmnmVH$mb Ho$ {bE CÎmaXm`r H$hr OmZo dmbr 

n[apñW{V`m| H$m {díbofU H$s{OE & Amn H$s am` _|, AmnmVH$mb H$m bJm`m OmZm H$hm± 

VH$ C{MV Wm ? 4+2=6 
AWdm 

 1967 Ho$ bmoH$ g^m MwZmdm| Ho$ níMmV² ^maV _| hþE _hÎdnyU© ~Xbmdm| H$m narjU H$s{OE & 6 

 Analyse the circumstances which are said to be responsible for the 

imposition of Emergency in India on 25th June, 1975. In your opinion, 

how far was this imposition justified ? 

OR 

 Examine the significant changes that India underwent after the  

Lok Sabha elections of 1967. 

 

27. ^maV _| {d{dYVm Ho$ àíZ Ho$ g_mYmZ Ho$ {bE bmoH$Vm§{ÌH$ ÑpîQ>H$moU H$mo AnZmZo Ho$ bm^m| 

H$m dU©Z H$s{OE & 6 
AWdm 

 ^maV _| ‘JR>~§YZ Ho$ `wJ’ go Š`m A{^àm` h¡ ? {H$Z n[apñW{V`m| Ho$ H$maU `h n[adV©Z 

Am`m Am¡a H¡$go ? 2+4=6 

 Describe the advantages of the democratic approach to the question of 

diversity in India. 

OR 

 What is meant by ‘Era of Coalition’ in India ? What circumstances led to 

this change and how ? 
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